S G o lae w3l el 0550
20 e o518 lo w55 e, slendle

¢ gz bk -l e Sl ol cudse cslo
a5 SWOOTS Cusbse & Lorso Sloy G Wges

NISOC .E‘%:%%é%? [
K wllS anl ui> ( J/ b
30\‘*:-.’ o)u Typical Instrument Installation Drawing —

053-073-9184

Extension of Binak B/C Manifold

oan |6 ai | oasS,olo

el | a3,

Sy ps| Sy

BK W007S | PEDCO

110 IN

Dw 0001

D04

s vy ads ml sl e lags e b

TYPICAL INSTRUMENT INSTALLATION DRAWING-—

EXTENSION OF BINAK B/C MANIFOLD

S s oM g gl 5 cala

IFC:
IFA:

Issued For Comment

Issued For Approval

AFD: Approved For Design

AFC: Approved For
AFP: Approved For
AFQ: Approved For

IFI:

Issued For Information

Purchase
Quotation

Construction

AB—R: As—Built for CLIENT Review

AB—A: As—Built — Approved

D04 APR.2023 Fl P.Hajisadeghi M.Fakharian AM.Mohseni

D03 DEC.2022 IF1 P.Hajisadeghi M.Fakharian M.Mehrshad

D02 JUL.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

DO1 MAY.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

D00 MAR.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

REV. DATE PURPOSE OF ISSUE/STATUS PREPARED BY: | CHECKED BY: | APPROVED BY: CLIENT APPROVAL
CLASS: 3 CLIENT Doc. Number:F2J—707983

STATUS: IDC: Inter—Discipline Check




S G o lae w3l el 0550
20 e o518 lo w55 e, slendle

¢ gz bk -l e Sl ol cudse cslo
a5 SWOOTS Cusbse & Lorso Sloy G Wges

NISOC @G‘“@ O
Koy SllS ol juir [I5
ol )2 " dension of Binak B/0 emfold
053-073-9184 oo |6 amouSplo| SN | w3, [Saps| Jom | e 125102 senie o)l
BK W007S | PEDCO 110 IN Dw 0001 D04
REV. REV.
Caon. | D00 | D01 |02 D03 D04 DOS | | D00 | DO1| DOZ| DO3| D04 DOS
1| X | x| x| X]|X 26 | X | X
2 | X | X|X|X]|X 27 | X | X
3 | x| X X 28 X
4 | X | X X 29
5 | X | X 30
6 | X | X 31
7 | x| X X 32
8 | X | X X 33
9 | x| X X 34
10 | x| X X 35
1Mo X | x| x| x| X 36
12 | X | X | x| Xx]|X 37
13 | X | X | x| X 38
14 | X | x| x| X 39
15 | X | X | x| X 40
16 | X | X | X |X 41
17 | X | X 42
18 | X | X 43
19 | X | X 44
20 | X | X 45
21 | X | X 46
22 | X | X 47
23 | X | X 48
24 | X | X 49
25 | X | X 50

REFERENCE

LSPECIFICATION FOR INSTRUMENTATION

BK-GNRAL-PEDCU-000-IN-SP-0001_DO03

S INSTRUMENT & CONTROL SYSTEM DESIGN CRITERIA
BK-GCS-PEDCO-120-IN-DC-0002 _D01




S G o lae w3l el 0550

wWALL (BUILDINGY

é P e 6,8 gla ans (5 e s, slendle
SR o ot e el e L 0
daw g3 (Ve ] O 3 3 < S HIRGAN
NISOC £y 3W007S¢§;:;“.u53::;)i Bt ~ @my E
roles 5l M stonsion of Binak B/C Manifold ©
053-073-9184 oo |6l wm [ ol [ e | w2, [Sups| S | es 12 5103 ramioo)lus
Bk |woozs |Pepco | 110 | N [ ow | oot | Dos
TITLE SHEET NO.REMARKS
SUMMERY SHEET 04
<SUPPORT & STANCHION TYPICAL DETAIL>
PANEL MOUNTING/PIPE MOUNTING 05
PANEL MOUNTING BRACKET/PIPE MOUNTING BRACKET 06
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS 07/
IRON SHEET CUTTING FOR SUNSHINE 08
<JUNCTION BOX TYPICAL DETAIL>
JUNCTION BOX INSTALLATION , SINGLE (PAVED AREAD 09
<INSTRUMENT TYPICAL DETAIL>
INSTALLATION SMOKE/HEAT DETECTOR UNDER CEILING 10
INSTALLATION SMOKE/HEAT DETECTOR IN CONTROL ROOM CABLE TRENCH 11
INSTALLATION MANUAL CALL POINT,HORN AND FLASH BEACON ON 1P




S G o lae w3l el 0550
20 e o518 lo w55 e, slendle

¢ gz bk -l e Sl ol cudse cslo
a5 SWOOTS Cusbse & Lorso Sloy G Wges

HIRGAN ——
ENERGY
Hsoe Sy pellS anl0ir @ [5
.. . Typical Instrument Installation Drawing —
"’Lw o”l‘w ypExiension of Binak B/C Manifold s
053-073-9184 an |68 an oSl o |, [Sm ] Sm | 12 5104 camioo)lus
BK WO007s | PEDCO 110 IN DW 0001 D04
SUMMARY SHEET

ITEM DESCRIPTION QUANTITY |QTY+20%

1 PIPE 2",SCH 40 (L:1600MM), CARBON STEEL 30(meter) | 35(meter)
2 | CAP 2",SCH 40, CARBON STEEL 18 22
3 | PLATE, 250x250x10(mm), CARBON STEEL 18 22
4 | EXPANSION BOLT , M10 X 100L , CARBON STEEL H.D.G. 72 87
5 | STEEL ANGLE , SIZE AS PER DRAWING , CARBON STEEL , SCH40 72 87
6 | U BOLT & NUT WITH SPRING WASHER FOR 2" PIPE , CARBON STEEL H.D.G. 20 24
7 | STIFFENER PLATE , 80X200X6T , CARBON STEEL H.D.G. 40 48
8 | EQUAL ANGLE , 50X50X5T , CARBON STEEL 12 15
9 | U-CHANNEL , 100X45X5T , CARBON STEEL 18 22
10 |BOLT,NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE,M8X20L ,CARBON STEEL 24 29
11 | U-CHANNEL ,100X45X5T ,CARBON STEEL 24 29
12 | EARTH LUG FLAT BAR,TWO HOLES ©6.5MM ,100X50X6T ,CARBON STEEL 6 8
13 | CONDUIT , 1" ,CARBON STEEL H.D.G. 213(meter) 255
14 | FLEXIBLE CONDUIT ,1” ,CARBON STEEL H.D.G. 16(meter) 20
15 | CONDUIT STRAP ,1” ,CARBON STEEL H.D.G. 153 184
16 | SCREW & FIBER/PLASTIC PLUG , M8 ,CARBON STEEL 285 342
17 | SCREW & FIBER/PLASTIC PLUG , M10 ,CARBON STEEL 316 380
18 | CONDUIT BOX WITH ROLL BOLTS , 100X100X50MM , CARBON STEEL H.D.G. 24 29
19 | ANGLE , 60X60X6T , CARBON STEEL 36(meter) 43
20 | PLATE , 150X150X4T ,CARBON STEEL 24 29
21 | BOLTS & NUTS , M8 ,CARBON STEEL H.D.G. 72 87
22 | CONDUIT BEND , 1" ,CARBON STEEL H.D.G. 6(meter) 8




S COVRET SRR RYOSW I g ) e ag 055 @‘
é 20 e o518 lo w55 e, slendle ™
Kea/nN Sl bk = el s Sl ol e el
dr g5 s WOOTS Cusnbse & by o Sy G SlUges HIRGAN —
NIS0C Sy IS aal juir C‘/ [5
toley o)le D anaton of Binak B/ antfod — |
053-073-9184 05an |6 i |aSplo| S | w3, [Smps| S | an 12 5105 remioo)l
BK WO007S | PEDCO 110 IN DW 0001 D04
PANEL MOUNTING
@ BOLTS FOR PANEL
G, MOUNTING
@ ;
] @]
B ] {
S e LIESS BOLTS FOR TRANSMITTER

= MOUNTING & 3
e

PIPE MOUNTING

2", U-BOLT FOR PIPE
MOUNTING




S G o lae w3l el 0550

O
é 20 e o518 lo w55 e, slendle ™
TR | b - il Sl ok i oo
NISOC da s SWOOTS Cumbse & bgrpo Sloy G Slhges 2 =
K wllS anl ui> Q L b
.. N Typical Instrument Installation Drawing —
"’Lw o"l‘w Extension of Binak B/C Manifold | _
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 1z 5106 ol
BK W007S | PEDCO | 110 IN DW 0001 D04
PANEL MOUNTING BRACKET

BOLTS FOR PANEL

MOUNTING

PIPE MOUNTING BRACKET




S G o lae w3l el 0550
20 e o518 lo w55 e, slendle

¢ gz bk -l e Sl ol cudse cslo
a5 SWOOTS Cusbse & Lorso Sloy G Wges

K wllS anl ui>

:O\‘“-’ o_,lo-i

053-073-9184

Typical Instrument Installation Drawing —
Extension of Binak B/C Manifold

6)54\2..! a")b\.o ) k|

0592

&s

S p

Ju

BK W007S | PEDCO 110

IN

Dw

0001 D04

SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS

ASSNN

SN

WELDED

4 HOLES

812

WELDED

SIDE VIEW

i

250
180
|
|

[

35

4 HOLES ¢12

CHANNEL BASE & FDN DETAIL

TAG NUMBERS

FE—-1701F

FE-1701B

FE—-1701C

FE-1701D

FE-1701E

FE-1701A

PT-1702F

PT-1702B

PT-1702C

PT-1702D

PT—-1702E

PT-1702A

PT—-1701F

PT-1701B

PT—-1701C

PT-1701D

PT—-1701E

PT-1701A

o

(BOTTOM VIEW)

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. | UNIT
1 PIPE ,SCH ( 40L1600:mm) 2" CARBON STEEL 1 Piece
2 CAP, SCH 40 2" CARBON STEEL 2 Piece
3 PLATE 250x 250x 6t CARBON STEEL 1 Piece
4 EXPANSION BOLT M 10x 100L |CARBON STEEL H.D.G. 4 Piece
] STIFFENER PLATE 80x 200x 6t CARBON STEEL 4 Piece




£

S G o lae w3l el 0550
20 e o518 lo w55 e, slendle

m c b,z bohs - Lale e Sl ¢ olr s sl PEDCO
dxw o5 3WOO7S¢.:.:§,.~ 4.0.!9’.:)9 u.'\...-) S QW HIRGAN ——)
NISOC SR C 1=
&-H—D“. B a2 )J&"
P TP Typical Instrument Installation Drawing —
vER Extension of Binak B/C Manifold |
. . . . . . . - tdio 0,k
053-073-9184 5ax [ e [asSpb] des [z, [Smps] S [ s 12 51 08 )
BK W007S | PEDCO 110 IN DW 0001 D04 NNV
TAG NUMBERS
FE—1701F
IRON SHEET CUTTING FOR SUNSHINE p———
FE—1701C
Weld
450 | | 400 FE-1701D
‘ ‘ FE—1701E
@ f ‘ FE—1701A
8 s\ PT—1702F
M M N
¢ PT-1702B
1] [ PT-1702C
L _
Hg O H OO Instrument PT-1702D
PT—1702E
OO0
m PT—1702A
PT—1701F
) . PT-1701B
Stanchion (2" Pipe) i
‘ PT-1701C
O oJ PT-1701D
PT—1701E
PT—1701A
PT-1701A
LT—1701
7
l &M\ L
&h
i i @ »'wooh
o
. <
Fig. 1
SUNSHADE MANUFACTURED AT SITE BY INSTRUMENT INSTALLATION CONTRACTOR,
FROM 2.31 MM THICKNESS CARBON STEEL, MOUNTED WITH 2" SIZE U-BOLTS, NUTS AND
WASHERS, ALL SHARP EDGES TO BE REMOVED AFTER CUTTING AND WELDING THEN |
PAINTED.
400
Development of Fig. 1
CODE DESCRIPTION SIZE QTY. MATERIAL
6 | STEEL ANGLE AS PER DRAWING 1 SARBON STEELSCHA0
7 U BOLT & NUT WITH SPRING WASHER FOR 2" PIPE 2" 2 CARBON STEEL




S G o lae w3l el 0550 @‘
é 20 e o518 lo w55 e, slendle ™
MR | o b - o S e ool
NISOC dagi sWOOTS Cumbse 4 bgsjo Sy G Slgus @%@# ’:D
Koy S ol iz [I5
.. . Typical Instrument Installation Drawing —
"’Lw o"l‘w Extension of Binak B/C Manifold ' _
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 12 5009 ol
BK W007S | PEDCO | 110 IN DW 0001 D04
TAG NUMBERS
JBD—A—17003
JUNCTION BOX INSTALLATION , SINGLE (PAVED AREA) JBE AT TToor
JBD—A—17002
JBD—A—17001
JBD-D-17001
JBE—S—17001
[~ TO BE DETERMINED AT SITE —~

|iTO BE DETERMINED AT SITE

JUNCTION —BOX

1400

2" PIPE 2" PIPE

@J;o

N
1000

"""""""""""""" ]—' §§§§ WELDED
S
o
— p - TRAY I
s AL >
g : WELDED 4\/
WELDED
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ.| UNIT
8 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 2 Piece
9 U-CHANNEL 100 x 45 x 5t CARBON STEEL 3 Piece
10 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARﬁODNGSTEEL 4 Piece
11 U-CHANNEL 100 x 45 x 5t CARBON STEEL 2 Piece
12 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 1 Piece




£

R CIPRET I KPR I ] RO K SIS S @‘
b

20 e o518 lo w55 e, slendle

QR | rlm b - e sl i oL

dam g sWOOTS Cmise & Lo Slo)y G Slges HEGAY =

NISOC oo S aal i (e HQ
30\‘*:-.’ o)u Typical Instrument Installation Drawing —

053-073-9184

Extension of Binak B/C Manifold

oan |6 ai | oasS,olo

g |, [Spmps

Np |

BK W007S | PEDCO

110 IN Dw

0001 D04

INSTALLATION SMOKE/HEAT DETECTOR UNDER CEILING

TAG NUMBERS

SD-2101

SD—-2102

SD-R103

SD-2104

SD—-2105

SD-2106

HD-2101

SD—-2201

SD-2301

SD—2302

SD—-2303

HD-2301

CONCRETE CEILING

DETECTOR

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
13 CONDUIT 1 CARBON STEEL 8 Meter
14 FLEXIBLE CONDUIT 1 CARBON STEEL 05 Meter
15 CONDUIT STRAP 1 CARBON STEEL 2 Piece
16 | SCREW & FIBER/PLASTIC PLUG M8 CARBON STEEL 15 Piece
17 | SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 4 Piece
18 | CONDUIT BOX WITHROLLBOLTS| 100 x 100 x 50mm CARBON STEEL 1 Piece




Ko i o e a5 Gl 5 2t 035 @‘
é U cs 6, le i 55 e, sletl N
Kea/nN Sl bk = el s Sl ol e el

NISOC da g5 sWOO7S Casige 4 by o Sl G SWiges @g@g ==

Koy SllS ol juir [I5

ol o)l N eteraton of Binak B/C Manftold ©
053-073-9184 0592 | 6w |ouiS ol | Mg | wd, [Sepy| Jum [ 4 12 5111 ramdo o)l
BK | woo7s | PEDCO | 110 IN DW | 0001 | Do4

SD-2315 TAG NUMBERS

SD—-2316 SD—-2111

SD—-2112

SD—-2113

SD—-2114

SD—-21R21

SD—-2122

SD—-2311

SD—-2312

SD—2313

SD—-2314

INSTALLATION SMOKE/HEAT DETECTOR IN CONTROL ROOM CABLE TRENCH

| X M /_@ CHECKER PLATE |

\_@ CONCRETE_FLOOR

3 DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
. CARBON STEEL
2 CONDUIT 1 BoNS 1 Meter
{ FLEXIBLE CONDUIT 1" CARaODNgTEEL 05 Meter
} CONDUIT STRAP 1" CARﬁODNéTEEL 2 Piece
< CONDUIT BEND 1 CARﬁODNéTEEL 05 Meter
17 | {SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 20 Piece
18 éONDUIT BOX WITHROLLBOLTS| 100 x 100 x 50mm CARaODNéTEEL 1 Piece
19 |) ANGLE 60X 60 x 6t CARBON STEEL 3 Meter
20 | PLATE 150 x 150 x 4t CARBON STEEL 2 Piece
21 } BOLTS & NUTS M8 CARaODNéTEEL 6 Piece

O




S G o lae w3l el 0550
20 e o518 lo w55 e, slendle

£

Kea/nN Sl bk = el s Sl ol e el

NISOC da g5 SWOOTS Susbse & byp o Slo)y G Slges 2 ==

Koy s llS sl uir @ [I5

ol o)l N tonsion of Binak 8/0 anitald
053-073-9184 T S = ™ I T T 12 5112 ramdo o)l
BK W007sS | PEDCO 110 IN DW 0001 D04

TAG NUMBERS

BR-2101

BR-2102

BL-2101

BR—-2201

BR-2301

BR—-2302

BL-2301

INSTALLATION MANUAL CALL POINT,HORN AND FLASH BEACON ON WALL (BUILDING)

T —
@— || 7| CONCRETE/MASONRY WALL O—- <17 .| CONCRETE/MASONRY WALL
s ® « L 8
5 ) i6 O . @
© e S
AR 3 @t
LA LA
MANUAL CALL POINT ‘f,; N W) FIRE ALARM HORN / BELL = )
T [ L FLASHER BEACON =l
:g.‘v.: . ( g
} '.:“r; . :'.
3 < 4 (
a
[P
< .
° B Q o
S oL g o R
= SR 8 P
kg “el
Sy Oy
< PR
FINISHED FLOOR FINISHED FLOOR
< DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
< CONDUIT 1" CARBON STEEL H.D.G. 15 Meter
< FLEXIBLE CONDUIT 1" CARBON STEEL H.D.G. 05 Meter
{ CONDUIT STRAP 1" CARBON STEEL H.D.G. 15 Piece
16 | SCREW & FIBER/PLASTIC PLUG M8 CARBON STEEL 15 Piece
17 | (SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 4 Piece




	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D04 Model (1)

